ABB BK
Arosserien div 102, 5:2

IMP over faltet, 14 bord, 28 par. Antal brickor: 12.

Plac Par Poadng Namn MID Klubb
1 305 2.13 Lars Marjoniemi - Bengt Pettersson 14508 2870 Hallstahammars BK
2 201 2.01 Anders Lovling - Anders Strom 18166 86698 Enkdpings BS - Orebridgen
3 202 1.63 Lars-Erik Strand - Elisabeth Stanley 3985 8807 ABB BK
4 206 1.62 Mikael Lindberg - Bo Ostlund 7948 11038 SalaBS
5 102 1.33 Jonas Lundberg - Claes Ahgren 7872 2664 ABB BK
6 101 1.23 Kijell Lindgren - Per Eriksson 16259 19493 Enkopings BS
7 106 1.18 Rolf Bohman - Per-Olof Pettersson 7931 50903 VBS Aros
8 103 1.15 Zenon Grajek - Maria Gron 11752 28267 ABB BK
9 3 1.08 Ann-Cathrine Hagstrom-Blomqyvist - Rolf Blomquist 10478 2721  Smedstadens BK
10 107 0.96 Inge Sixtensson - Nils Aimgren 7068 3959 ABB BK
11 104 0.79 Lennart Ekholm - Christer Astrom 50946 38022 ABBBK
12 207 0.22 Jorgen Lundberg - Christer Stenberg 7657 3984 ABB BK
13 204 0.17 Georg Guttormsson - Ulla Guttormsson 7915 13504 VBS Aros
14 5 0.09 Johnny Ramsten - Bert-Ove Christiansson 90802 50158 Hallstahammars BK
15 205 -0.09 Leif Lundin - Harry Hultgren 11514 4512 ABB BK - VBS Aros
16 4 -0.17 UIf Rilbe - Karin Rilbe 16179 16178 ABBBK
17 7 -0.22 Ulf Bergdahl - Gunnar Muhr 11639 3977 ABBBK
18 304 -0.79 Britt Lindberg - Lena Andersson 15373 11061 VBS Aros - ABB BK
19 307 -0.96 Lennart Mintzing - Ralph Juhlin 9357 3972  VBS Aros - ABB BK
20 203 -1.08 Leif Johansson - Rolf Forsberg 4016 13471 ABB BK - Fagersta BS
21 303 -1.15 Kent Roxberg - Bengt-Ake Leskinen 2703 13009 Smedstadens BK
22 306 -1.18  Tord Jonsson - Tommy Lindstrém 2867 38791 Hallstahammars BK
23 301 -1.23 Gunilla Bjerregérd - Sven Ake Bjerregérd 4757 1058 ABB BK - BK S:t Erik
24 302 -1.33 Birgitta Samuelsson - Nils Gardell 15036 173 Kopings BS
25 6 -1.62 Lennart Karlsson - Gunnar Widell 2871 2868  Hallstahammars BK
26 2 -1.63 Anders Eriksson - Borje Karlsson 2624 13521 Kopings BS
27 1 -2.01 Asa Andersson - Erik Andersson 7928 3992 ABB BK
28 105 -2.13 Boris Johansson - Hans Svanberg 40752 7869  VBS Aros
13 « EDKn102 Bésta kontrakt 14 # Kn85 Bésta kontrakt 15 «D10876 Bésta kontrakt
Nord vE6 5v O D -2 500 Ost v 97 ANT O =-430 Syd vD ANT V =-430
Alla ¢ EK7 Ingen + EKn852 NS +3
*E76 & ¢ v & NT *Kn74 & ¢ v & NT #ED9752 & ¢ v & NT
& K754 43 N 6 104 8 10 D32 K107 N75353 a- 4« EKKn3 N6 3473
vDKn943 vK1087 S 6 104 9 10 vEDKn vK10654 S75353 v K86 vE1072 S6 3473
¢- 498432 061921 + D764 K103 06 89 7 10 ¢ EK7642 ¢ 1095 O 6 109 5 10
#DKn84  #K92 V62922 D103 K6 V689 7 10 210843  &Kn6 V 6 109 5 10
4986 4 E964 49542
v52 v 3832 v Kn9543
+ DKn1065 +9 + DKn8
#1053 #E9852 *K
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3203 3NS+3 vQ 690 62.0 -62.0(102 302 4v O-3 ¢8 150 59.0 -59.0 (104 304 24 N+1 T 140 82.0 -82.0
4204 3NN+3 49 690 62.0 -62.0( 2202 4v O-1 9 50 22.0 -22.0(106 306 24 N+1 9 140 82.0 -82.0
101 301 3NN+3 ¢2 690 62.0 -62.0( 3203 4v O-1 ¢9 50 220 -220| 7 207 5¢ V-2 vQ 100 71.0 -71.0
102 302 3NN+3 ¢7 690 62.0 -62.0| 5205 4v O-1 ¢9 50 22.0 -22.0(103 303 3NO-2 ¥4 100 71.0 -71.0
106 306 3NN+3 v7 690 62.0 -62.0| 7 207 4v O-1 9 50 220 -220| 3203 5¢ V-1 vQ 50 52.0 -52.0
107 307 3NN+3 v7 690 62.0 -62.0(101 301 3NV-1 &4 50 22.0 -22.0(101 301 5¢ V-1 vQ 50 52.0 -52.0
7 207 44 N+1 ¥8 650 52.0 -52.0(103 303 4v O-1 +¢9 50 22.0 -22.0(107 307 5¢ V-1 &7 50 52.0 -52.0
104 304 44 N+1 vK 650 52.0 -52.0(104 304 4v O-1 9 50 220 -220| 5205 34 N-1 T -100 9.0 -9.0
1201 44 N= +2 620 40.0 -40.0|105 305 4v O-1 +9 50 22.0 -22.0|102 302 3¢ V+1 46 -130 -2.0 2.0
2 202 24 N+3 v8 200 -70.0 70.0 {106 306 4v O-1 ¢9 50 22.0 -22.0(105 305 3¢ V+1 vQ -130 -2.0 2.0
6 206 24 N+2 ¢4 170 -80.0 80.0{107 307 3NV-1 45 50 220 -22.0| 6206 3v O= &5 -140 -2.0 2.0
105 305 24 N+1 ¢9 140 -87.0 87.0| 1201 3vV= 9 -140 -440 440| 4 204 44DN-3¢T -800 -129.0 129.0
103 303 5¢ S-1 vQ -100 -133.0 133.0| 6 206 3NV= 48 -400 -116.0 116.0| 1 201 44DN-4 vA -1100 -168.0 168.0
5205 44 N-2 ¢4  -200 -146.0 146.0| 4 204 4v O= ¢9 -420 -119.0 119.0| 2 202 44DN-4 ¢T -1100 -168.0 168.0
16 # EKn4 Bésta kontrakt 17  EKn106 Bésta kontrakt 18 46 Bésta kontrakt
Vast v 97 5NT V =-660 Nord v DKn963 44 O =-420 Ost v EK93 74 S =2140
oV + K1076 Ingen +5 NS + ED93
#8754 & ¢ v & NT #853 & ¢ v & NT #EKD7 & ¢ v & NT
« KD8 4109732 N52222 4K753 4 D982 N6 6534 4Kn72 4K1094 N 13128 1111
vEKn65 vKD3 S52222 vEK874 v52 S 66534 v 854 vDKn10762 S 13128 1111
¢ EKn984 ¢ D5 O 7 10101011 ¢+ E10 ¢+ KD92 O6 6 8 109 ¢ K102 +Kn7 001422
*E #KDKn vV 8 10111111 #96 #EKn4 V 6 6 8 108 210963 &4 VOo1l1422
465 a4 4 ED853
v 10842 v10 v-
32 + Kn87643 + 8654
#109632 #KD1072 #Kn852
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 204 66DO-24T 500 171.0 -171.0 |107 307 4v V-4 &5 200 72.0 -72.0(103 303 64 N= ¢J 1370 158.0 -158.0
3203 5NO-1 #9 100 103.0 -103.0| 5 205 44 V-3 &8 150 56.0 -56.0( 1201 3NN+3 vQ 690 70 -7.0
102 302 6NO-1 #6 100 103.0 -103.0| 2 202 44 O-2 &K 100 42.0 -420| 2 202 3NN+2 vQ 660 -6.0 6.0
103 303 64 O-1 #T 100 103.0 -103.0 |106 306 54 O-2 &K 100 420 -42.0| 3203 5NN= vQ 660 -6.0 6.0
106 306 6NV-1 ¥9 100 103.0 -103.0| 3 203 44 O-1 &K 50 19.0 -19.0|] 5205 3NN+2 vQ 660 -6.0 6.0
107 307 4y V= &7 -620 -59.0 59.0| 4 204 44 O-1 ¥T 50 19.0 -19.0( 6 206 3NN+2 vQ 660 -6.0 6.0
1201 3NO+1 %2 -630 -59.0 59.0| 6 206 44 O-1 &K 50 19.0 -19.0 (104 304 3NN+2 vQ 660 -6.0 6.0
6 206 BNO+1 #T -630 -59.0 59.0(101 301 44 O-1 T 50 19.0 -19.0 (105 305 3NN+2 vQ 660 -6.0 6.0
101 301 3NO+1 v4  -630 -59.0 59.0|102 302 44 O-1 ¥T 50 19.0 -19.0 (107 307 3NN+2 vQ 660 -6.0 6.0
104 304 3N QO +1 %2 -630 -59.0 59.0(103 303 44 O-1 &K 50 19.0 -19.0( 4 204 3NN+1 vQ 630 -19.0 19.0
2202 44 O+1 &T -650 -72.0 72.0(104 304 44 O-1 T 50 19.0 -19.0|102 302 3NN+1 ¥J 630 -19.0 19.0
5205 44 O+1 &3 -650 -72.0 72.0| 1201 3NO= &K -400 -113.0 113.0|106 306 3NN+1 vQ 630 -19.0 19.0
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7207 BNO+2 #T -660 -72.0 72.0| 7 207 44 O= T -420 -116.0 116.0( 7 207 54 N= vQ 600 -33.0 33.0
105 305 3NO+2 #T -660 -720 72.0|105 305 44 O= T -420 -116.0 116.0|101 301 5#N= vQ 600 -33.0 33.0
19 & EK9872 Basta kontrakt 20 4743 Basta kontrakt 21 ~ E62 Basta kontrakt
Syd v E42 3v SD-1-100 Vast v KD96 4%V =-130 Nord v5 4v OD-1100
ov +D5 Alla ¢ D752 NS ¢ 976

85 % ¢ v & NT *K4 % ¢ v & NT #E86543 % ¢ v & NT
4 Kn5 « D1063 N53875 «KD8  «E1062 N3 7747 4Knl03 D974 N9 7469
v6 vD1083 S538765 v8 v 1075 S37747 vKD8632 vKn9 S97 4609
¢107642 ¢ EK93 079546 ¢EK98 ¢104 O 106 5 8 6 ¢ ED5 ¢ K432 046974
#EKKNn32 #4 V79546 #D7652 #10983 V 106 5 8 6 *9 #1072 V462974

Ly & Kn95 4 K85

v KKn975 v EKn432 vE1074

+ Kn8 + Kn63 + Kn108

#D10976 #EKn #KDKn

Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 24 N+1 #4 140 63.0 -630| 7207 2¢vS= +¢A 110 67.0 -67.0(104 304 3NS= v6 600 135.0 -135.0

1201 24 N= +A 110 50.0 -50.0 (103 303 24 O-1 #A 100 66.0 -66.0( 5 205 4vDV-2 A 300 67.0 -67.0
105 305 24 N= #4 110 50.0 -50.0|106 306 1¢ V+1 ¥K -90 0.0 0.0 {101 301 3¢ O-4 &K 200 37.0 -37.0

2202 4v S-1 #A -50 -2.0 20 3203 3vS-1 ¢A -100 -2.0 20| 4204 INN+2 #4 150 150 -15.0

5205 3vS-1 &K -50 -2.0 20| 4204 2vS-1 ¢K -100 -2.0 2.0(102 302 INN+2 #4 150 150 -15.0

6 206 2v S-1 &K -50 -2.0 20| 5205 2¢vS-1 ¢K -100 -2.0 2.0 (107 307 INN+2 44 150 15.0 -15.0

7 207 24 N-1 +A -50 -2.0 20| 6206 3v N-1 T  -100 -2.0 20| 1201 3#S= «J 110 30 -3.0
102 302 3v S-1 #A -50 -2.0 20105 305 3vy N-1 «A  -100 -2.0 20| 2202 3#N= vJ 110 30 -3.0
106 306 3v S-1 *A -50 -2.0 2.0(107 307 3vS-1 ¢K -100 -2.0 20| 3203 3#S= +vK 110 30 -3.0

4 204 34 N-2 ¢K -100 -26.0 26.0| 2202 3«#V= K -110 -4.0 40| 7 207 2#N+1 vK 110 30 -3.0
103 303 34 N-2 ¢A -100 -26.0 26.0|102 302 3#V+1 vK -130 -16.0 16.0| 6 206 3#S-1 +vQ -100 -62.0 62.0
104 304 4vS-2 #A -100 -26.0 26.0| 1201 24V+1l K -140 -17.0 17.0(106 306 2v V= #A -110 -66.0 66.0
107 307 3¢ V= &K -110 -29.0 29.0|101 301 4v S-2 ¢A -200 -420 420103 303 3vV= &A -140 -75.0 750

3203 4vN-3 ¢A -150 -440 44.0(104 304 3vS-2 A -200 -42.0 420|105 305 4#S-2 vK -200 -93.0 93.0
22 #1085 Basta kontrakt 23 « Kn85 Basta kontrakt 24 + 1094 Basta kontrakt
Ost vD108 4ANT O =-630 Syd vE72 24 V =-110 Vast vE6G3 3NT V =-400
ov + D85 Alla ¢+ E10 Ingen + E1064

#EKNn93 & ¢ v & NT #D10432 & ¢ v & NT #1082 & ¢ v & NT
«EK D732 N22332 4D943  4K1072 N7 7646 «E5 & Kn873 N27 454
v EK6 v 973 $22332 vKD865 v3 S776 46 vKKn105 vD8 S27 454
¢ EKn3 ¢ K1064 O 11109 1010 ¢ 643 ¢ KD9 066787 + KD9 73 O 106 8 7 9
#KD1064 #75 VvV 11109 1010 »7 #EKn865 V667287 #EKD3  #Kn9764 VvV 106 8 7 9

& Kn964 «E6 & KD62

v Kn542 v Kn1094 v 9742

¢ 972 ¢ Kn8752 ¢ Kn852

»82 *K9 &5

Par Kontr Ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang

1201 3NV+1 ¢8  -630 11.0 -11.0( 5205 2NDO-1+5 200 93.0 -93.0(101 301 3NV= T -400 120 -12.0

2202 3NV+1l «T -630 110 -11.0| 6206 2vO-1 ¢A 100 62.0 -62.0(102 302 3NV= T  -400 120 -12.0

4 204 3NV+1l «T -630 110 -11.0|101 301 2v V-1 +¢A 100 62.0 -62.0(107 307 3NV= 49  -400 120 -12.0
102 302 3NV +1 48  -630 11.0 -11.0|107 307 INO= 5 -90 -1.0 10| 1201 3NV+1 46  -430 -2.0 2.0
103 303 3NV+1 «T  -630 110 -11.0|106 306 2« N-1 ¢K -100 -7.0 7.0 2202 3NV+1 ¢4  -430 -2.0 2.0
107 307 3NV+1 4«8  -630 110 -11.0| 2202 24 0= vJ -110 -8.0 80| 3203 3NV+1 ¢6  -430 -2.0 2.0

5205 3NV+2 #3 -660 -3.0 30| 4204 24 O= &K -110 -8.0 80| 4204 3NV+1 ¢6  -430 -2.0 2.0

6 206 BNV +2 48  -660 -3.0 30| 1201 24 O+1 vJ -140 -22.0 22.0| 5205 3NV+1l ¢4  -430 -2.0 2.0

7 207 3NV +2 #3  -660 -3.0 30 3203 34 0= ¢7 -140 -220 220| 6206 3NV+1 ¢4  -430 -2.0 2.0
101 301 3NV +2 #9  -660 -3.0 30| 7207 24 O+1 ¢5 -140 -220 22.0| 7207 3NO+1 ¢4  -430 -2.0 2.0
105 305 3NV +2 «T  -660 -3.0 3.0 (105 305 24 O+1 vJ -140 -22.0 22.0|103 303 3NV +1 «T  -430 -2.0 2.0

3203 3NV+3 #9 -690 -17.0 17.0(102 302 34 O+1 5 -170 -35.0 35.0(104 304 3NV +1 ¢6 -430 -2.0 2.0
104 304 3NV+3 #3 -690 -170 17.0|103 303 24 O+2 #K -170 -350 35.0|105 305 3NV+1 ¢4  -430 -2.0 2.0
106 306 3NV +3 #3 -690 -170 17.0|104 304 24 O+2 ¢2 -170 -350 35.0(106 306 3NV+2 ¢4 -460 -16.0 16.0
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